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x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1” ”strong=”c/6961|���/� x-morph=”OSHM:HC/Ncmsa”
x-wType=”x-ketiv” 4 ”strong=”5186|��������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 17 ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1.0” � ”strong=”7121|������
x-morph=”OSHM:HVqv2ms” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1.1” ”strong=”3541|����� x-morph=”OSHM:HD” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.1” ”strong=”5750|����� x-morph=”OSHM:HD” x-
4+ strong=”c/6957|����/�����/� b” x-morph=”OSHM:HC/Ncmsa”
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cantillationLevel=”1.0.0” strong=”6327|������������� c” x-morph=”OSHM:HVqi3fp”
strong=”5892|�/����� b” x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”1.0”
strong=”m/2896|������/�� b” x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”1”
”strong=”c/5162|������/�� x-morph=”OSHM:HC/Vpq3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”6726” x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/977|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”b/3389|������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� �2 5 KJV:Zech.1.18 ”strong=”c/5375|��������/�� x-morph=”OSHM:HC/Vqw1cs”

”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”5869
a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”c/7200|������/��

x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”0.0” ”strong=”702|���������
x-morph=”OSHM:HAcfsa” strong=”7161|��������� a” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0”� 2 6 KJV:Zech.1.19 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.0.1” ”strong=”413|���
x-morph=”OSHM:HR”����������/���|strong=”d/4397” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”d/1696|�������/�� x-morph=”OSHM:HTd/Vqrmsa”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0”
”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”428” x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2”
”strong=”428|������� x-morph=”OSHM:HPdxcp” strong=”d/7161|����������/��
a” x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2219|������ x-morph=”OSHM:HVpp3cp”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”3063” x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/3389|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 7 � 3 8 KJV:Zech.1.20
”strong=”c/7200|���/��������/�� x-morph=”OSHM:HC/Vhw3ms/Sp1cs”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”702|����������� x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0”
”strong=”2796|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
4 9 KJV:Zech.1.21 ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1” ”strong=”4100|���� x-morph=”OSHM:HTi” x-cantillationLevel=”1.0.0”
”strong=”428|������� x-morph=”OSHM:HPdxcp” ”strong=”935|�������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0” strong=”l/6213|��������/���
a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
5+
6+
7U We agree with both BHS 1997 and BHQ on an unexpected reading.
8+
9+
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x-cantillationLevel=”0.2.2” ”strong=”428|������� x-morph=”OSHM:HPdxcp”
strong=”d/7161|����������/�� a” x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.2.1.0”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”2219”
x-morph=”OSHM:HVpp3cp” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1” ”strong=”k/6310|���/���
x-morph=”OSHM:HR/Ncmsc”�������|strong=”376” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2.0” ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”5375”
x-morph=”OSHM:HVqp3ms” strong=”7218|��/������ a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”428|�������� x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0.1.0”
”strong=”l/2729|���������/�� x-morph=”OSHM:HR/Vhc” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1” ”strong=”l/3034|��������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”7161 a” x-morph=”OSHM:HNcbpc”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.1”
”strong=”d/5375|�����������/�� x-morph=”OSHM:HTd/Vqrmpa” strong=”7161|������
a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/2219|��/��������/��
x-morph=”OSHM:HR/Vpc/Sp3fs” x-cantillationLevel=”0”� � 5 10 KJV:Zech.2.1
”strong=”c/5375|��������/�� x-morph=”OSHM:HC/Vqw1cs” strong=”5869|�/������
a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.0.0” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.0” ”strong=”c/2009|������/��
x-morph=”OSHM:HC/Tm”�������|strong=”376” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/b/3027|��/����/��/�� x-morph=”OSHM:HC/R/Ncbsc/Sp3ms”
x-cantillationLevel=”0.0” strong=”2256|������ a” x-morph=”OSHM:HNcbsc”
strong=”4060|������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
6 11 KJV:Zech.2.2 ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1” ”strong=”575|������ x-morph=”OSHM:HD” x-
cantillationLevel=”1.0” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”1980|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.1” ”strong=”l/4058|����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”���������������|strong=”3389” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”l/7200|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”k/4100|�����/��� x-morph=”OSHM:HR/Ti”��/���������|strong=”7341”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.0” ”strong=”c/k/4100|�����/��/��
x-morph=”OSHM:HC/R/Ti” ”strong=”753|��/�������� x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 7 12 KJV:Zech.2.3 ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.0.1” ”strong=”d/4397|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”d/1696|�������/��

10+
11+
12+
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x-morph=”OSHM:HTd/Vqrmsa” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3318|������ x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1” ”strong=”c/4397|���������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”312|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1”
”strong=”3318|������ x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”l/7125|��/�������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0”�
8 13 KJV:Zech.2.4 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
14 15 ”strong=”7323|���� x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.0.1”
”strong=”1696|�������� x-morph=”OSHM:HVpv2ms” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”1975|������� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”6519|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.1.0” ”strong=”3427|�������� x-morph=”OSHM:HVqi3fs”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”m/7230|����/�� x-morph=”OSHM:HR/Ncbsc” ”strong=”120|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”c/929|��������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.0” ”strong=”b/8432|��/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”0”� 9 16 KJV:Zech.2.5
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs” ”strong=”1961|��������
x-morph=”OSHM:HVqi1cs”���/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”2346|�������
x-morph=”OSHM:HNcfsc” ”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0” ”strong=”5439|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”c/l/3519|�������/��/�� x-morph=”OSHM:HC/R/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”1961|��������� x-morph=”OSHM:HVqi1cs”
”strong=”b/8432|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”0”�
� 10 17 KJV:Zech.2.6 ”strong=”1945|����� x-morph=”OSHM:HTj” ”strong=”1945|�����
x-morph=”OSHM:HTj” x-cantillationLevel=”1.0.1” ”strong=”c/5127|������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.0.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”6828|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.0.0.1” ”strong=”k/702|���������/���
x-morph=”OSHM:HR/Acfsa” x-cantillationLevel=”0.0.0.0” ”strong=”7307|��������
x-morph=”OSHM:HNcbpc” ”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0.0” ”strong=”6566|������������� x-morph=”OSHM:HVpp1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
13+
14Q Marks a place where we agree with BHQ against BHS in reading L.
15q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
16+
17+
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”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 18 KJV:Zech.2.7 ”strong=”1945|�����
x-morph=”OSHM:HTj” ”strong=”6726|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”4422|����������� x-morph=”OSHM:HVNv2fs”
x-cantillationLevel=”1” ”strong=”3427|���������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0.0” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”��������|strong=”894”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 12 19 KJV:Zech.2.8 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3541|���� x-morph=”OSHM:HD” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.3.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.3” strong=”310|������ a” x-morph=”OSHM:HR” ”strong=”3519|��������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.2” ”strong=”7971|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cs” x-cantillationLevel=”1.1” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/1471 a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” strong=”d/7997|�����������/�� b” x-morph=”OSHM:HTd/Vqrmpa”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0”
”strong=”d/5060|��������/�� x-morph=”OSHM:HTd/Vqrmsa” ”strong=”b|����/���
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1” ”strong=”5060|�������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0” ”strong=”b/892|������/���
x-morph=”OSHM:HR/Ncfsc” strong=”5869|��/����� a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� 13 20 KJV:Zech.2.9 strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”1.1.0.0” ”strong=”2005|����/����
x-morph=”OSHM:HTm/Sp1cs” strong=”5130|������� b” x-morph=”OSHM:HVhrmsa”
”strong=”853|��� x-morph=”OSHM:HTo”��/�����|strong=”3027” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”1.1.0” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” 21 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”7998|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/5650|����/�������/�� x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3045|����������/��� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
x-cantillationLevel=”0”� � 14 22 KJV:Zech.2.10 strong=”7442|�������
b” x-morph=”OSHM:HVqv2fs” ”strong=”c/8055|���������/�� x-morph=”OSHM:HC/Vqv2fs”
x-cantillationLevel=”1.0” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”2005|���/���� x-morph=”OSHM:HTm/Sp1cs”�����|strong=”935”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0.0” ”strong=”c/7931|������������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”b/8432|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
18+
19+
20+
21+ WLC has this word divided as .�����/����
22+
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x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 15 23 KJV:Zech.2.11 strong=”c/3867|��������/��
a” x-morph=”OSHM:HC/VNq3cp” strong=”1471|������� a” x-morph=”OSHM:HNcmpa”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” strong=”l/5971|����/��
a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1” ”strong=”c/7931|������������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”b/8432|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp2fs”
x-cantillationLevel=”0.2” ”strong=”c/3045|����������/�� x-morph=”OSHM:HC/Vqq2fs”
x-cantillationLevel=”0.1” strong=”3588|���� a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”413|��/������� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
16 24 KJV:Zech.2.12 ”strong=”c/5157|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” strong=”2506|��/������
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”127|��������
x-morph=”OSHM:HNcfsc” ”strong=”d/6944|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/977|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 17 25 KJV:Zech.2.13 ”strong=”2013|����
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x-morph=”OSHM:HR/Ncfdc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”c/l/2007|�������/��/��
x-morph=”OSHM:HC/R/Sp3fp” ”strong=”3671|���������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”1.0” ”strong=”k/3671|��������/��� x-morph=”OSHM:HR/Ncfdc”
”strong=”d/2624|���������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/5375|�������������/�� x-morph=”OSHM:HC/Vqw3fp” x-
cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/����|strong=”d/374”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”996|������
x-morph=”OSHM:HR” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
10 ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/4397”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”d/1696|�������/��
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”575|������ x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”1992|������� x-morph=”OSHM:HPp3mp” ”strong=”3212|�����������
x-morph=”OSHM:HVhrfpa” x-cantillationLevel=”0.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�������/���|strong=”d/374” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 11 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” strong=”1004|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc”
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”strong=”8152|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/3559|�������/�� a” x-morph=”OSHM:HC/VHq3ms” x-cantillationLevel=”0.0.0”
”strong=”c/3240|����������/�� x-morph=”OSHM:HC/VHq3fs” ”strong=”8033|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/����������|strong=”4369”
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0”� �6 ”strong=”c/7725|�������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.2.1”

”strong=”c/5375|��������/�� x-morph=”OSHM:HC/Vqw1cs” strong=”5869|��/�����
a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”c/7200|��������/���

x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”702|��������� x-morph=”OSHM:HAcfsa”
”strong=”4818|������������ x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0”
”strong=”3318|���������� x-morph=”OSHM:HVqrfpa” x-cantillationLevel=”1.1”
”strong=”m/996|������/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0”
”strong=”8147|������� x-morph=”OSHM:HAcmdc” ”strong=”d/2022|�������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/d/2022|�������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.0” ”strong=”2022|������
x-morph=”OSHM:HNcmpc” strong=”5178|��������� a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 2 ”strong=”b/4818|������������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”d/7223|�����������/�� x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1.0”
strong=”5483|�������� b” x-morph=”OSHM:HNcmpa” strong=”122|����������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1” ”strong=”c/b/4818|������������/��/��
x-morph=”OSHM:HC/Rd/Ncfsa” ”strong=”d/8145|���������/�� x-morph=”OSHM:HTd/Aofsa”
x-cantillationLevel=”0.0” strong=”5483|�������� b” x-morph=”OSHM:HNcmpa”
”strong=”7838|���������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
3 ”strong=”c/b/4818|������������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa”
”strong=”d/7992|������������/�� x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1.0”
strong=”5483|�������� b” x-morph=”OSHM:HNcmpa” ”strong=”3836|���������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1” ”strong=”c/b/4818|������������/��/��
x-morph=”OSHM:HC/Rd/Ncfsa” x-cantillationLevel=”0.1.0” ”strong=”d/7243|���������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”0.1” strong=”5483|��������
b” x-morph=”OSHM:HNcmpa” ”strong=”1261|����������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”554|���������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0”� 4 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.0” ”strong=”c/559|������/��� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1” ”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/4397”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”d/1696|�������/��
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0.0” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 5 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4397|����������/�� x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”428|������� x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”0.2.1” ”strong=”702|��������� x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”0.2.0” ”strong=”7307|������� x-morph=”OSHM:HNcbpc”
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”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.2”
”strong=”3318|���������� x-morph=”OSHM:HVqrfpa” x-cantillationLevel=”0.1”
”strong=”m/3320|�����������/��� x-morph=”OSHM:HR/Vtc” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”113” x-morph=”OSHM:HNcmsc”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 6 strong=”834|������
a” x-morph=”OSHM:HTr”��/�����|strong=”b” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.2.1.0” strong=”d/5483|���������/�� b” x-morph=”OSHM:HTd/Ncmpa”
”strong=”d/7838|�����������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.2.1”
”strong=”3318|���������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”6828|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2”
”strong=”c/d/3836|����������/��/�� x-morph=”OSHM:HC/Td/Aampa”
x-cantillationLevel=”1.1” ”strong=”3318|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”����/���������|strong=”310
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/d/1261|�����������/���/��
x-morph=”OSHM:HC/Td/Aampa” x-cantillationLevel=”0.1” ”strong=”3318|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” ”strong=”413|��� x-
morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc” ”strong=”d/8486|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”� 7 ”strong=”c/d/554|����������/��/��
x-morph=”OSHM:HC/Td/Aampa” ”strong=”3318|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.2.2” ”strong=”c/1245|�����������/�� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”1.2.1” ”strong=”l/3212|�������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2.0” ”strong=”l/1980|�����������/�� x-morph=”OSHM:HR/Vtc”
29We agree with both BHS 1997 and BHQ on an unexpected reading. ”strong=”b/776|������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” ”strong=”3212|������
x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.0” ”strong=”1980|�������������
x-morph=”OSHM:HVtv2mp” ”strong=”b/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1” ”strong=”c/1980|����������������/�� x-morph=”OSHM:HC/Vtw3fp”
x-cantillationLevel=”0.0” ”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� 8 ”strong=”c/2199|���������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.1”
”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”0.1.1” ”strong=”d/3318|������������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc” ”strong=”6828|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”5117|���������
x-morph=”OSHM:HVhp3cp” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”7307”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”b/776|������/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”6828|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� � 9 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
29U
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”strong=”1697|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 10 ”strong=”3947|��������� x-morph=”OSHM:HVqa”
x-cantillationLevel=”1.2.0” ”strong=”m/854|����/�� x-morph=”OSHM:HR/R”
”strong=”d/1473|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2”
”strong=”m/2469|���������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/m/853|����/��/�� x-morph=”OSHM:HC/R/To” ”strong=”2900|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/m/853|����/��/��
x-morph=”OSHM:HC/R/To” ”strong=”3048|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/935|������/�� x-morph=”OSHM:HC/Vqp2ms”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.2.0”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.2” ”strong=”c/935|������/��
x-morph=”OSHM:HC/Vqp2ms” x-cantillationLevel=”0.1.1” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” ”strong=”2977|�����������
x-morph=”OSHM:HNp” strong=”1121|��� a” x-morph=”OSHM:HNcmsc”�����������|strong=”6846”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”834|������ a”
x-morph=”OSHM:HTr”��������|strong=”935” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”m/894|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 11 ”strong=”c/3947|����������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”3701|������ x-morph=”OSHM:HNcmsa”������/���|strong=”c/2091”
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0” strong=”c/6213|���������/��
a” x-morph=”OSHM:HC/Vqq2ms” ”strong=”5850|��������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1” strong=”c/7760|���������/�� a” x-morph=”OSHM:HC/Vqq2ms”
x-cantillationLevel=”0.0.1” strong=”b/7218|������/��� a” x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0.0” ”strong=”3091|����������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”3087”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0”� 12 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1”
”strong=”3541|����� x-morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1”
”strong=”2009|������ x-morph=”OSHM:HTm”�������|strong=”376” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0.0” ”strong=”6780|������
x-morph=”OSHM:HNcmsa” ”strong=”8034|���/���� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”c/m/8478|�/����������/��/�� x-
morph=”OSHM:HC/R/R/Sp3ms” ”strong=”6779|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1” ”strong=”c/1129|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1964”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0”� 30 Marks a place where we agree with BHQ against
BHS in reading L. 31 32 13 ”strong=”c/1931|����/��� x-morph=”OSHM:HC/Pp3ms”
x-cantillationLevel=”1.1.0.1” ”strong=”1129|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1964”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”���������|strong=”5375”
x-morph=”OSHM:HVqi3ms” ”strong=”1935|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/3427|�������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”c/4910|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”3678”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”3548|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”3678”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”c/6098|������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”1961|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0.0” ”strong=”996|������ x-morph=”OSHM:HR” ”strong=”8147|����/������
x-morph=”OSHM:HAcmdc/Sp3mp” x-cantillationLevel=”0”� 14 ”strong=”c/d/5850|��������/��/��
x-morph=”OSHM:HC/Td/Ncfpa” x-cantillationLevel=”1.1.2” ”strong=”1961|����������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1.1” ”strong=”l/2494|�������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0” ”strong=”c/l/2900|����������/��/��
x-morph=”OSHM:HC/R/Np” ”strong=”c/l/3048|����������/��/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”1.1” ”strong=”c/l/2581|����/��/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”1.0” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�����������|strong=”6846”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”l/2146|����������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”b/1964|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 15 ”strong=”c/7350|����������/�� x-morph=”OSHM:HC/Aampa”
x-cantillationLevel=”1.2.1.0” � ”strong=”935|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.2.1” ”strong=”c/1129|������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”1.2.0” ”strong=”b/1964|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/3045|����������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.0” ”strong=”7971|���/�������� x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”413|����/����� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0”
strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”8085”
x-morph=”OSHM:HVqa” ”strong=”8085|�/������������ x-morph=”OSHM:HVqi2mp/Sn”
x-cantillationLevel=”0.1” strong=”b/6963|�����/��� a” x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”

30Q
31n Marks an anomalous form.
32p We read punctuation in L differently from BHS.
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”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0”�
�7 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
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”strong=”b/3691|��������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
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”strong=”7278|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
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x-cantillationLevel=”0”� 3 ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1.2” ”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.0” strong=”l/1004|����/��
b” x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�����������/���|strong=”d/5030”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”i/1058|���������/���
x-morph=”OSHM:HTi/Vqi1cs” x-cantillationLevel=”0.3.0” ”strong=”b/2320|�������/���
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x-cantillationLevel=”0.2” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
strong=”6213|���������� a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”� � 4 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 5 ”strong=”559|������
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”strong=”b/2549|����������/��� x-morph=”OSHM:HR/Aomsa” ”strong=”c/b/7637|�����������/��/��
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x-morph=”OSHM:HC/Pdxms” x-cantillationLevel=”0.1.0” ”strong=”7657|����������
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”strong=”d/398|����������/�� x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.1”
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strong=”k/834|������/�� d” x-morph=”OSHM:HR/Tr”�������|strong=”7121”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”8085|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1” strong=”3651|����� c” x-morph=”OSHM:HTm” ”strong=”7121|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”8085|��������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.1” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
14 ”strong=”c/5590|�/����������/�� x-morph=”OSHM:HC/Vpi1cs/Sp3mp”
x-cantillationLevel=”1.2.1” strong=”5921|���� a” x-morph=”OSHM:HR”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3808|���� x-morph=”OSHM:HTn”�/���������|strong=”3045”
x-morph=”OSHM:HVqp3cp/Sp3mp” x-cantillationLevel=”1.2” ”strong=”c/d/776|�������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” x-cantillationLevel=”1.1.0” ”strong=”8047|����������
x-morph=”OSHM:HVNp3fs” strong=”310|����/�������� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” strong=”m/5674|������/��� a” x-morph=”OSHM:HR/Vqrmsa”
x-cantillationLevel=”1.0” ”strong=”c/m/7725|������/��/�� x-morph=”OSHM:HC/R/Vqrmsa”
x-cantillationLevel=”1” strong=”c/7760|�����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
”strong=”776|������ x-morph=”OSHM:HNcbsc”����������|strong=”2532
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”l/8047|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”� �8 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0”

”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”

x-cantillationLevel=”0.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 2 ”strong=”3541|����� x-morph=”OSHM:HD”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1” ”strong=”7065|����������
x-morph=”OSHM:HVpp1cs” ”strong=”l/6726|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”7068|�������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1”
”strong=”c/2534|������/�� x-morph=”OSHM:HC/Ncfsa” strong=”1419|���������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.0” ”strong=”7065|����������
x-morph=”OSHM:HVpp1cs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 3 ”strong=”3541|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.2.0” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”7725|���������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”6726” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/7931|������������/�� x-morph=”OSHM:HC/Vqp1cs”
x-cantillationLevel=”1.0” ”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3389|�������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”



CONTENTS 31

”strong=”c/7121|����������/�� x-morph=”OSHM:HC/VNp3fs” ”strong=”3389|��������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”5892|����� b”
x-morph=”OSHM:HNcfsc”������/����|strong=”d/571” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”c/2022|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”2022|���� x-morph=”OSHM:HNcmsc”
”strong=”d/6944|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
� 4 ”strong=”3541|����� x-morph=”OSHM:HD” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.2” ”strong=”5750|���� x-morph=”OSHM:HD” ”strong=”3427|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.0” ”strong=”2205|���������
x-morph=”OSHM:HAampa” ”strong=”c/2205|���������/�� x-morph=”OSHM:HC/Aafpa”
x-cantillationLevel=”1.1” ”strong=”b/7339|���������/��� x-morph=”OSHM:HR/Ncfpc”
x-cantillationLevel=”1.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
strong=”4938|��/������������ b” x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0.0” ”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”m/7230|����/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
5 ”strong=”c/7339|���������/�� x-morph=”OSHM:HC/Ncfpc” strong=”d/5892|�����/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0” ”strong=”4390|������������
x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”1.1” ”strong=”3206|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”c/3207|��������/���
x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1” ”strong=”7832|������������
x-morph=”OSHM:HVprmpa” x-cantillationLevel=”0.0” ”strong=”b/7339|��/�����������/���
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strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.2”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”1.1.1”
”strong=”c/3533|����������/�� x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”1.1.0”
”strong=”68|������� x-morph=”OSHM:HNcfpc”�������|strong=”7050
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/8354|�������/��
x-morph=”OSHM:HC/Vqp3cp” ”strong=”1993|������ x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”3644|������ x-morph=”OSHM:HR”�������|strong=”3196”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/4390|���������/��
x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”0.1.0” ”strong=”k/4219|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”k/2106|����������/���
x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”0.0” ”strong=”4196|����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 16 ”strong=”c/3467|�/����������/���
x-morph=”OSHM:HC/Vhp3ms/Sp3mp” x-cantillationLevel=”1.0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.0.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.0”
”strong=”k/6629|�����/��� x-morph=”OSHM:HR/Ncbsc” strong=”5971|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0” ”strong=”68|�������
x-morph=”OSHM:HNcfpc”�������|strong=”5145” x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”0.1” ”strong=”5264|��������������� x-morph=”OSHM:HVrrfpa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/���������|strong=”127”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 17 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”4100|��� x-morph=”OSHM:HTi”��/�������|strong=”2898”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”��/�������|strong=”3308” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”1715|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”970|������������ x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1” ”strong=”c/8492|���������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”5107|��������� x-morph=”OSHM:HVoi3ms”
”strong=”1330|���������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�

10 ”strong=”7592|��������� x-morph=”OSHM:HVqv2mp” ”strong=”m/3068|�������/��
x-morph=”OSHM:HR/Np” ”strong=”4306|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HR/Ncbsc”

”strong=”4456|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”6213|������� a” x-morph=”OSHM:HVqrmsa” ”strong=”2385|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”c/4306|�����/��
x-morph=”OSHM:HC/Ncmsc”����������|strong=”1653” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”5414|������� x-morph=”OSHM:HVqi3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1”
”strong=”l/376|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”6212|������� x-morph=”OSHM:HNcmsa” strong=”b/7704|��������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 2 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”d/8655|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”1696|��������� x-morph=”OSHM:HVpp3cp”�������|strong=”205”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.1” ”strong=”c/d/7080|������������/��/��
x-morph=”OSHM:HC/Td/Vqrmpa” x-cantillationLevel=”1.2.0” ”strong=”2372|������
x-morph=”OSHM:HVqp3cp” ”strong=”8267|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2” ”strong=”c/2472|���������/��� x-morph=”OSHM:HC/Ncmpc”
x-cantillationLevel=”1.1.0” ”strong=”d/7723|�������/�� x-morph=”OSHM:HTd/Ncmsa”
36We agree with both BHS 1997 and BHQ on an unexpected reading. ”strong=”1696|�����������
x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1.1” ”strong=”1892|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”5162|�/�����������
x-morph=”OSHM:HVpi3mp/Sn” x-cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.1.0” ”strong=”5265|�������� x-morph=”OSHM:HVqp3cp”
”strong=”3644|����� x-morph=”OSHM:HR”������|strong=”6629” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1” strong=”6031|�������� b” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”369”
x-morph=”OSHM:HTn” strong=”7462|������ b” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� � 3 strong=”5921|��� a” x-morph=”OSHM:HR”�������/����|strong=”d/7462
b” x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.1.0” ”strong=”2734|������
36U
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x-morph=”OSHM:HVqp3ms” ”strong=”639|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����������/���|strong=”d/6260”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” strong=”6485|���������
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a” x-morph=”OSHM:HC”�������|strong=”6485 a” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” ”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”5739”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
strong=”c/7760|�����/�� a” x-morph=”OSHM:HC/Vqp3ms” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1” strong=”k/5483|�����/���
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”1935|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 4 strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
”strong=”6438|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp” ”strong=”3489|������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.0” ”strong=”7198|�������
x-morph=”OSHM:HNcfsc” ”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.0.0” ”strong=”3318|������ x-morph=”OSHM:HVqi3ms”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”���������|strong=”5065”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0” strong=”3162|���������
b” x-morph=”OSHM:HD” x-cantillationLevel=”0”� 5 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqp3cp” ”strong=”k/1368|����������/�� x-morph=”OSHM:HR/Aampa”
x-cantillationLevel=”1.2.0.0” ”strong=”947|��������� x-morph=”OSHM:HVqrmpa”
”strong=”b/2916|�����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”2351|��������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.0” ”strong=”b/4421|�����������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.2” strong=”c/3898|�����������/��
a” x-morph=”OSHM:HC/VNp3cp” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3001|����������/�� x-morph=”OSHM:HC/Vhp3cp”
x-cantillationLevel=”0.0” ”strong=”7392|�������� x-morph=”OSHM:HVqrmpc”
strong=”5483|�������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
6 ”strong=”c/1396|������������/�� x-morph=”OSHM:HC/Vpp1cs” x-
cantillationLevel=”1.2.1.0” � ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3130|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”3467|���������� x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”1.2” ”strong=”c/7725|��/�������������/�� x-morph=”OSHM:HC/Vhp1cs/Sp3mp”
x-cantillationLevel=”1.1.0” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”7355|�/������������ x-morph=”OSHM:HVpp1cs/Sp3mp” x-
cantillationLevel=”1.1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqp3cp”
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x-cantillationLevel=”1.0” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”3808|���� x-morph=”OSHM:HTn”�/������������|strong=”2186
a” x-morph=”OSHM:HVqp1cs/Sp3mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0.1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.0” strong=”c/6030|�/�������/�� b” x-morph=”OSHM:HC/Vqi1cs/Sp3mp”
x-cantillationLevel=”0”� 7 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqp3cp”
”strong=”k/1368|��������/�� x-morph=”OSHM:HR/Aamsc” x-cantillationLevel=”1.1.0”
”strong=”669|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/8055|�������/�� x-morph=”OSHM:HC/Vqp3ms” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”3644|������
x-morph=”OSHM:HR”�������|strong=”3196” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/1121|����/�����/�� a” x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”7200|�������� x-morph=”OSHM:HVqi3mp”
”strong=”c/8055|���������/�� x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”0.1”
”strong=”1523|������ x-morph=”OSHM:HVqi3ms” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”b/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 8 ”strong=”8319|�����������
x-morph=”OSHM:HVqi1cs” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0.0” ”strong=”c/6908|�/����������/�� x-morph=”OSHM:HC/Vpi1cs/Sp3mp”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6299|�/���������
x-morph=”OSHM:HVqp1cs/Sp3mp” x-cantillationLevel=”1” strong=”c/7235|������/��
a” x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”0.0” ”strong=”3644|�������
x-morph=”OSHM:HR” strong=”7235|������ a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 9 ”strong=”c/2232|��/��������/�� x-morph=”OSHM:HC/Vqi1cs/Sp3mp”
x-cantillationLevel=”1.1.0” strong=”b/5971|��������/���� a” x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/b/4801|�������������/��/�� x-
morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”2142|���/�����������
x-morph=”OSHM:HVqi3mp/Sp1cs” x-cantillationLevel=”1” ”strong=”c/2421|������/��
x-morph=”OSHM:HC/Vqp3cp” ”strong=”854|��� x-morph=”OSHM:HR”����/�������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”c/7725|�������/��
x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”0”� 10 ”strong=”c/7725|��/�������������/��
x-morph=”OSHM:HC/Vhp1cs/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/m/804|���������/���/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”1.0” ”strong=”6908|�/���������� x-morph=”OSHM:HVpi1cs/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�������|strong=”776”
x-morph=”OSHM:HNcbsc” ”strong=”1568|��������� x-morph=”OSHM:HNp”
”strong=”c/3844|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0”
”strong=”935|�/�������� x-morph=”OSHM:HVhi1cs/Sp3mp” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”4672|���������
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”0.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 11 strong=”c/5674|������/��
a” x-morph=”OSHM:HC/Vqp3ms” ”strong=”b/3220|�����/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2.1.0” strong=”6869|������ b” x-morph=”OSHM:HNcfsa”
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x-cantillationLevel=”1.2.1” ”strong=”c/5221|�������/�� x-morph=”OSHM:HC/Vhp3ms”
”strong=”b/3220|�����/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”1530|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2”
”strong=”c/3001|����������/�� x-morph=”OSHM:HC/Vhp3cp” x-cantillationLevel=”1.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”4688|���������� x-morph=”OSHM:HNcfpc” ”strong=”2975|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3381|�������/��
x-morph=”OSHM:HC/VHp3ms” x-cantillationLevel=”0.1.0” ”strong=”1347|��������
x-morph=”OSHM:HNcmsc” ”strong=”804|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/7626|�������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”5493|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
12 ”strong=”c/1396|��/�����������/�� x-morph=”OSHM:HC/Vpp1cs/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”b/3068|������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”c/b/8034|��/�����/��/�� x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”1980|������������� x-morph=”OSHM:HVti3mp”
x-cantillationLevel=”1” ”strong=”5002|������ x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� �11 strong=”6605|������� a” x-morph=”OSHM:HVqv2ms” ”strong=”3844|���������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”1817|��/���������
c” x-morph=”OSHM:HNcfdc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/398|�������/��

x-morph=”OSHM:HC/Vqi3fs” ”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” ”strong=”b/730|��/��������/��� x-morph=”OSHM:HR/Ncmpc/Sp2ms”
x-cantillationLevel=”0”� 2 ”strong=”3213|������� x-morph=”OSHM:HVhv2ms”
”strong=”1265|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”5307” x-
morph=”OSHM:HVqp3ms” ”strong=”730|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”117|���������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
”strong=”7703|���������� x-morph=”OSHM:HVPp3cp” x-cantillationLevel=”1”
”strong=”3213|����������� x-morph=”OSHM:HVhv2mp” x-cantillationLevel=”0.1.0”
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37 � 3 strong=”6963|����� a” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0”
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x-cantillationLevel=”1” strong=”6963|����� a” x-morph=”OSHM:HNcmsc”
37+ ”strong=”d/1219|��������/������/� x-morph=”OSHM:HTd/Ncmsa” x-
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x-cantillationLevel=”0.1.0” ”strong=”7581|��������� x-morph=”OSHM:HNcfsc”
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39Q
40n Marks an anomalous form.
41v We read one or more vowels in L differently from BHS.
42U
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